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General Instructions :
1.	 The question paper consists of 2 sections - Section A (having 27 questions) and Section B 

(having 12 questions).
2.	 All questions are compulsory.
3.	 There is no overall choice. However, internal choices have been provided in three 

questions of 2/3 marks category, and all the six questions of five marks each.
4.	 All questions of Section A, and Section B, are to be attempted separately.
5.	 Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice 

questions and carry 1 mark each.
6.	 Questions 5 to 10 in Section A, and Questions 30 to 32 in Section B, are very short answer 

type questions and carry 1 mark each.
7.	 Questions 11-16 in Section A, and Questions 33 to 35 in section B, are short answer type 

questions and carry 2 marks each.
8.	 Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short 

answer type questions and carry 3 marks each.
9.	 Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type 

questions and carry 5 marks each.

lkekU; funsZ'k %
1-	 bl iz'u&i=k ds nks [kaM gSa&[kaM ^v* (ftlesa 27 iz'u gSa) vkSj [kaM ^c* (ftlesa 12 iz'u gSa)A
2-	 lHkh iz'u vfuok;Z gSaA
3-	 lkefxzd fodYi ugha fn;k x;k gSA rFkkfi 5 vad dh Js.kh ds lHkh N% iz'uksa rFkk 2@3 vad dh Js.kh ds 

3 iz'uksa esa vkarfjd fodYi iznku fd, x, gSaA
4-	 [kaM ^v* ds lHkh iz'u] vkSj [kaM ^c* ds lHkh iz'u] vyx&vyx djus gSaA
5-	 [kaM ^v* esa iz-la- 1 ls 4] rFkk [kaM ^c* esa iz-la- 28 vkSj 29] cgq&oSdfYid iz'u gSa ,oa buesa ls izR;sd 

dk 1 vad gSA
6-	 [kaM ^v* esa iz-la- 5 ls 10] rFkk [kaM ^c* esa iz-la- 30 vkSj 32] vfr y?kwmÙkjkRed iz'u gSa ,oa izR;sd 

ç'u 1 vad dk gSA
7-	 [kaM ^v* esa iz-la- 11 ls 16] rFkk [kaM ^c* esa iz-la- 33 ls 35 y?kwmÙkjkRed iz'u gSa ,oa buesa ls izR;sd 

ç'u 2 vadksa dk gSA
8-	 [kaM ^v* esa ç-la- 17 ls 23] rFkk [kaM ^c* esa iz-la- 36 vkSj 37] Hkh y?kqmÙkjkRed iz'u gSa ,oa buesa ls 

izR;sd iz'u 3 vadksa dk gSA
9-	 [kaM ^v* esa ç-la- 24 ls 27] rFkk [kaM ^c* esa iz-la- 38 vkSj 39] nh?kZmÙkjkRed iz'u gSa ,oa buesa ls izR;sd 

iz'u 5 vadksa dk gSA
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section - a ([kaM&v)

1.	 A beam of parallel rays of light when incident on a device, emerges out of  

it and get converged at one point. The device is likely to be.			    

(a)	 A convex lens	 (b)	 A concave lens		   

(c)	 A glass slab	 (d)	 A prism	  

çdk'k dh lekukarj fdj.kksa dk ,d iqat tc ,d ;qfDr ij vkifrr gksdj nwljh vksj 

ls ckgj fudyrk gS rks ,d fcanq ij vfHklkfjr gksrk gSA og ;qfDr laHkor% gS %&	  

(a)	 ,d mÙky ysal	 (b) 	 ,d vory ysal				  

(c) 	 dk¡p dh LyS	 (d) 	 ,d fizTe

2.	 The audible range of sound for human beings is -				 

(a)	 Below 20 Hz	 (b)	 20 Hz to 20,000 Hz	  

(c)	 20 Hz to 2KHz	 (d)	 above 20,000 Hz		  

ekuoksa ds fy, èofu dk JO; ifjlj gksrk gSA						    

(a)	 20 Hz ls de	 (b) 	 20 Hz ls 20,000 Hz			 

(c) 	 20 Hz ls 2KHz	 (d) 	 20,000 Hz ls vfèkd

3.	 Name a non metal which exists in liquid state -	  

(a)	 Mercury	 (b)	 Carbon	  

(c)	 Bromine	 (d)	 Aluminium	  

,d vèkkrq dk uke fyf[k, tks nzo vOLFkk esa ikbZ tkrh gS %& 	  

(a)	 ejdjh	 (b) 	 dkcZu				  

(c) 	 czksehu	 (d) 	 ,syqfefu;e

4.	 Identify major source of water pollution -						    

(a)	 oil spill	 (b)	 Agricultural waste			 

(c)	 Acid Rain	 (d)	 Industrial waste			   

ty iznw"k.k dk izeq[k L=kksr igpkfu, %&							     

(a)	 rsy dk iSQyuk	 (b) 	 Ñf"k vif'k"V				  

(c) 	 vEy o"kkZ	 (d) 	 vkS|ksfxd vif'k"V

5.	 Name a planet that has been named after a Roman Sea God.				  

,d xzg dk uke fyf[k, ftldk uke jkseu leqæ Hkxoku ij j[kk x;k gSA
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6.	 Astronauts are not able to talk directly to one another on the moon as we 

normally do on the earth. Why?							     

paæek ij varfj{k ;k=kh ,d nwljs ls lhèks ckr ugha dj ldrs gSa tSlk fd lkekU;r% 
ge i`Foh ij djrs gSaA dkj.k fyf[k,A

7.	 Name a prominent coustellation looking like distorted form of the letter 'W'  

or 'M'.								      

,d izeq[k rkjke.My dk uke fyf[k, tks vaxzsth ds v{kj 'W' vFkok 'M' ds fcxM+s 
(foÑr) :i tSlk fn[kkbZ nsrk gSA

8.	 Suggest any two measures to conserve water in daily life.				  

nSfud thou esa ty laj{k.k ds fy, fdUgha nks mik;ksa dk lq>ko nhft,A

9.	 Mention the name given to the property by virtue of which metals can be  

beaten into thin sheets?		   

ftl xq.kèkeZ }kjk /krqvksa dks ihVdj iryh pknj cu;k tk ldrk gS ml xq.k/eZ ds 
uke dk mYys[k dhft,A

10.	 Name any two metals that are more reactive than Aluminium. 				 

,syeqfefu;e ds vfèkd vfHkfØ;k'khy fdUgha nks èkkrqvksa ds uke fyf[k,A

11.	 Name the following :-	  

(i)	L argest asteroid ____________	  

(ii)	 A periodic comet ____________	  

(iii)	 A visible layer of the sun ____________	  

(iv)	 A planet which can be seen with naked eye ____________		   

fuEufyf[kr ds uke fyf[k, %&	  
(i) 	 lcls cM+k {kqæxzg (xzfgdk) ____________	 
(ii) 	 ,d vkorZ /wedsrq ____________	  
(iii) 	lw;Z dh,d n`'; ijr ____________	  

(iv) 	,d xzg ftls uaxh vk¡[k }kjk ns[kk tk ldrk gS ____________

12.	 The normal human eye can comfortably see a book lying on the table as  

well as stars in the sky. Name the property of the eye that enables it to see 

nearby as well as far off objects. State in brief the reason for this for this  

amazing ability of the human eye.							     
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lkekU; ekuo us= est ij j[kh gqbZ ,d iqLrd rFkk lkFk gh vkdk'k esa fLFkr rkjs vkjke 

ls ns[k ldrk gSA us=k ds ml xq.kèkeZ dk uke fyf[k, tks mls fudV dh rFkk nwj dh 

oLrqvksa dks ns[kus esa l{ke cukrk gSA ekuo us=k dh ml foLe;dkjh {kerk ds fy, 

la{ksi esa dkj.k O;Dr dhft,A

or (vFkok)

	 Name the part of the human eye which is responsible for :-				  

(a)	 colour vision.								      

(b)	 changing the curvature of human eye.						       

(c)	 regulating the amount of light entering the eye. 			    

(d)	 providing protective layer for the eye.						    

ekuo us=k ds ml Hkkx dk uke fyf[k, tks fuEu ds fy, mÙkjnk;h gS %&	  
(a)	 o.kZ n`f"V	  
(b)	 ekuo us= dh oØrk esa ifjorZu	  
(c)	 us=k ds vanj izos'k djus okys izdk'k dh ek=kk dks fu;af=kr djukA			 
(d)	 us=k dks j{kk ijr miyCèk djkukA

13.	 Seema purchased a CD from a shop. While coming home, she was thrilled to  

see a pattern of beautiful colours formed on it due to sun rays falling on it. 

Name and define the phenomenon involved.							     

lhek us ,d nqdku ls ,d lhMh [kjhnhA ?kj okil vkrs le; og lhMh ds i`"B ij 
lw;Z dh fdj.kksa ds fxjus ds dkj.k cuus okys lqanj jaxksa ds uewus dks ns[kdj jksekafpr 
gks xbZA gksus okyh ifj?kVuk dk uke fyf[k, rFkk mls ifjHkkf"kr dhft,A

14.	 Name the following -	  

(a)	 A metal having very low metting point.	  

(b)	 A metalloid					      

fuEu ds uke fyf[k, &	  
(a)	 ,d /krq ftldk xyukad cgqr de gksrk gSA	 
(b)	 ,d mi/krq

15.	 (a)	 What is meant by 18 carat gold?	  

(b)	 We prefer to use 18 carat gold rather than 24 carat gold for making  

	 jewellery. Why?				     
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(a)	 18 dSjV lksus ls D;k vfHkizk; gS\	  

(b)	 vkHkw"k.k cukus ds fy, ge 24 dSjV lksus dh vis{kk 18 dSjV lksus ds mi;ksx dks  

	 ojh;rk D;ksa nsrs gSa\

or (vFkok)

	 Name an alloy which is used for making aircraft bodies. Also give its 

composition.					      

,d fefJr /krq dk uke fyf[k, ftldk mi;ksx gokbZ tgkt dk <kapk cukus ds fy, 

fd;k tkrk gSA bldk la;kstu Hkh fyf[k,A

16.	 Give two uses each of the following :-								      

(a)	 Nylon	 (b)	 Acrylon			    

fuEu esa ls izR;sd ds nks mi;ksx fyf[k, %&	 

(a)	 ukbykWu	 (b)	 ,sØkbykWu

17.	 Why does a pencil appear bent when it is partially dipped in water. 

Explain with the help of a diagram.							     

ty esa vkaf'kd :i ls Mqcks, tkus ij ,d iSafly Vs<+h D;ksa izrhr gksrh gS] ,d vkjs[k 

dh lgk;rk ls le>kb,A

	 Alternate question for visually impaired students only in lieu of Q. No. 17	 

ç-la- 17 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u			 

For refration of light through spherical lence explain three rules.		

xksyh; ysalksa }kjk izdk'k ds viorZu ds fy, rhu fu;e Li"V dhft,A

or (vFkok)

	 (a)	 Define absolute refractive index of a medium.	  

(b)	 Which has higher absolute refractive index, glass or water?	  

(c)	 State the corelation between refractive index and optical density.	 

(a)	 fdlh ekè;e ds fujis{k viorZukad dh ifjHkk"kk fyf[k,A	  

(b)	 dk¡p vFkok ty esa ls fdldk fujis{k viorZukad vf/d gksrk gS\	  

(c)	 fujis{k viorZukad rFkk izdkf'kd l?kurk ds eè; lglEcUèk O;Dr dhft,A

1+1=2
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18.	 Sahil is planning to buy a house in a metrocity. The house short listed by  

him is located on a very busy / noisy road. Help him decline the offer stating 

any three harmful effects of noise pollution.						    

lkfgy ,d esVªks'kgj esa ?kj [kjhnus ij fopkj dj jgk gSA mlds }kjk laf{kIr lwfpr ?kj 

,d vR;kfèkd O;Lr @ 'kksjxqy okyh lM+d ij vofLFkr gSA 'kksj iznw"k.k ds dksbZ rhu 

gkfudkjd izHkko O;Dr djrs gq, lkfgy dks bl izLrko ds fy, u dgus esa lgk;rk 

dhft,A

19.	 Answer the following questions :-								      

(a)	 Define the term Echo?					      

(b)	 Why do we not hear echoes in our ordinary surroundings?		

(c)	 Explain why we always hear the thunder a little after we see the flash  

	 of lighting.							     

fuEu iz'uksa ds mÙkj fyf[k, &						       

(a)	 in izfrèofu dks ifjHkkf"kr dhft,A							     

(b)	 vius lkekU; izfros'k esa gesa izfrèofu D;ksa ugha lqukbZ nsrh gS\				 

(c)	 Li"V dhft, fd gesa ges'kk fctyh dh ped cknyksa ds xjtus dh èofu lquus  

	 ls igys D;ksa fn[kkbZ nsrh gS\

20.	 (i)	L abel the parts a, b and c in the following diagram of the human ear.	

(ii)	 State one function of each of these parts a, b and c				     

(i)	 ekuo d.kZ ds fn, x, vkjs[k esa Hkkx a] b rFkk c ukekafdr dhft,A		   

(ii)	 bu çR;sd a] b rFkk c Hkkxksa dk ,d&,d izdk;Z O;Dr dhft,A

	  

	 For visually impaired students only in lieu of Q. No. 20	  

ç-la- 20 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u	  

(i)	 Name three main parts of the human ear.			   

(ii)	 State one function of each of these parts.	 		   
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(i)	 ekuo d.kZ ds rhu izeq[k Hkkxksa ds uke fyf[k,A		  

(ii)	 bu çR;sd Hkkxksa dk ,d&,d izdk;Z fyf[k,A

21.	 Give reason for the following :-	  

(a)	 From outer space, the earth appears blue and green.	  

(b)	 Colourful bands are associated with Jupiter.	  

(c)	 Venus is hotter than mercury even through it is more distant from sun.	  

fuEu ds fy, dkj.k fyf[k, %&	  

(i)	 ckgjh varfj{k ls i`Foh uhyh rFkk gjh izrhr gksrh gSA	  

(ii)	 c`gLifr ds lkFk jaxhu èkkfj;ka lac¼ gksrh gSaA	 

(iii)	lw;Z ls 'kqØ xzg dh nwjh cqèk xzg dh vis{kk vfèkd gksus ds ckotwn 'kqØ cqèk ls  

	 vfèkd xeZ gSA

22.	 One day Rohan went to buy vegetables with his mother. He noticed that  

the vegetable seller was packing all items in polythene bags. Rohan  

encourged the seller to ask customers to bring their own cloth / jute bags  

otherwise provide them the same.							        

(a)	 Why did Rohan think of encouraging vegetable seller to use jute or  

	 cloth bag instead of polythene bags. State two reasons.	  

(b)	 State two values displayed by Rohan.	  

,d fnu jksgu viuh ekrkth ds lkFk lfCt;ka [kjhnus x;k mlus è;ku ls ns[kk 

fd lCth cspus okyk lHkh oLrqvksa dks ikSyhFkhu dh Fksfy;ksa esa iSd dj jgk 

FkkA jksgu us nqdkunkj ls lHkh xzkgdksa dks viuk diM+s@twV dk FkSyk ykus ds 

fy, dgus dks izksRlkfgr fd;k vU;Fkk og Lo;a miyCèk djk,A		   

(a)	 jksgu us D;ksa lkspk fd lCth cspus okys nqdkunkj dks ikSfyFkhu dh FkSfy;ksa ds  

	 mi;ksx ds LFkku ij diM+s vFkok twV ds FkSys ykus ds fy, izksRlkfgr djuk pkfg,A  

	 nks dkj.k fyf[k,A	  

(b)	 jksgu }kjk iznf'kZr nks ewY; fyf[k,A

23.	 Give reason for following :-	  

(a)	 Domestic sewage in big cities should not be released into rivers.		

(b)	 Fertilizers and pesticides dumped into water bodies are fatal for animals  

	 and human life.	  

1×3=3

2+1=3
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(c)	 Chlorine tablets should be added to purify water.			    

fuEu ds fy, dkj.k fyf[k, %&	  

(a)	 cM+s 'kgjksa esa ?kjsyw lhost dks ufn;ksa esa eqDr ugha djuk pkfg,A	  

(b)	 tyk'k;ksa esa fxjk, x, moZjd rFkk ihM+duk'kd tarqvksa rFkk ekuoksa ds fy, ?kkrd  

	 gks ldrs gSaA	  

(c)	 ty dks 'kq¼ djus ds fy, Dyksjhu dh xksfy;ka Mkyh tkuh pkfg,A

24.	 Ankit's grand mother finds it difficult to put the thread into a needle without 

wearing spectacles.					   

(a)	 Which eye defect is she suffering from?				  

(b)	 Why does the defect occur?			    

(c)	 How it can be corrected?				     

(d)	 Mention two points we should adopt to take care of our eyes?		   

vafdr dh nknh th fcuk p'es igus lqbZ esa èkkxk Mkyus esa dfBukbZ vuqHko djrh gSaA 
(a)	 og fdl us=k nks"k ls izHkkfor gSa\		   
(b)	 ;g nks"k D;ksa gksrk gS\	  
(c)	 bl nks"k dks fdl izdkj la'kksfèkr fd;k tk ldrk gS\	  
(d)	 vius us=kksa dh ns[kHkky djus ds fy, gekjs }kjk viuk, tkus okys nks fcanqvksa dk  
	 mYys[k dhft,A

or (vFkok)

	 In an examination room you find come visually challanged students 

reading by using logical system based on their sense of touch.	  

(a)	 Name the type of aid used for visually challenged persons.	  

(b)	 How optical and Non optical aids help visually challenged persons to  

	 develop their skill to a higher level. Explain in brief.		   

,d ijh{kk d{k esa vki dqN n`f"V izHkkfor fo|kfFkZ;ksa dks Nwdj 'kCnksa dks igpkuus ij 
vkèkkfjr lalkèkuksa dk mi;ksx djrs gq, ns[krs gSaA			    
(a)	 n`f"V izHkkfor O;fDr;ksa ds fy, ftl izdkj dh lgk;rk mi;ksx dh tkrh gS mldk  
	 uke fyf[k,A	  
(b)	 n`f"V izHkkfor O;fDr;ksa dks viuh fuiq.krk dks mPp Lrj rd fodflr djus ds  
	 fy, izdkf'kd rFkk vizdkf'kd lkèku fdl izdkj lgk;d gSa\ la{ksi esa o.kZu  
	 dhft,A

1+1+1 

+2=5

1×3=3

1+4=5
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25.	 A student wants to project the image of a candle flame on the walls of his  

school laboratory by using a lens.		   

(i)	 Which type of lens should be used?	  

(ii)	 By using the same lens, at what distance, in relation to the focal length  

	 'F' of the lens should we place the candle flame so as to get a inverted  

	 magnified image.	  

(iii)	 Draw a neat well labelled diagram to show the magnified image  

	 mentioned above. 						    

,d Nk=k ,d ysal dk mi;ksx djds ,d eksecÙkh dh Tokyk ds izfrfcao 

dks fo|ky; iz;ksx'kkyk dh nhokj ij iz{ksfir djuk pkgrk @ pkgrh gSA	  

(i)	 fdl izdkj dk ysal mi;ksx djuk pkfg,\						    

(ii)	 mlh ysal dk mi;ksx djrs gq, ysal dh iQksdl nwjh ^F* ls lac¼ mYVk foofèkZr  

	 izfrfcac izkIr djus ds fy, eksecrh dh Tokyk dks fdruh nwjh ij j[kuk  

	 pkfg,\		   

(iii)	Åij mYysf[kr foof/Zr izfrfcac dks iznf'kZr djus ds fy, LoPN Hkyh Hkkafr  

	 ukekafdr vkjs[k [khafp,A

	 For visually impaired students only in lieu of Q. No. 25 (iii)	  

ç-la- 25 (iii) ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u		

Wrie the nature, size and position of image formed by concave lens.		

vory ysal }kjk fufeZr izfrfcac dh izÑfr] lkbt rFkk fLFkfr fyf[k,A

or (vFkok)

	 (a)	 Complete the following ray diagram

	

	  

 

(b)	 State the position, nature and size of the image formed in above case.	  

1+1+  

3 = 5
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(c)	 Under what condition, does a convex lens form a virtual image.	  

(d)	 Mention any two uses of lenses in our daily life.	  

(a)	 uhps fn;k x;k fdj.k vkjs[k iw.kZ dhft,A						    

(b)	 Åij fn, x, izdj.k esa fufeZr izfrfcac dh fLFkfr izÑfr rFkk lkbt fyf[k,A		

(c)	 fdl n'kk esa mÙky ysal vkHkklh izfrfcac dk fuekZ.k djrk gS\				 

(d)	 gekjs nSfud thou esa ysal ds dksbZ nks mi;ksx fyf[k,A

	 For visually impaired students only in lieu of Q. No. 25 (a) and (b)	  

ç-la- 25 (a) ,oa (b) ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u 

State three characteristics of the image formed by convex lens when the  

object is placed beyond it 2F point.			    

,d mÙky ysal ds lkeus tc fcac dks 2F fcanq ls ijs j[kk tk, rks fufeZr izfrfcac ds 

rhu vfHky{k.k fyf[k,A

26.	 A non metal 'X' burns in air to form a gas 'Y' which is responsible for global 

warming and used in photo synthesis by plants. When this gas 'Y' dissolves  

in water, it forms 'Z' which turns blue litmus red. 	  

(a)	 Identify X and Y.	  

(b)	 Write down balanced chemical equations of reactions involved.	  

(c)	 Why does the solution (Z) of the compound Y in water, turus blue litmus  

	 red.	 

(d)	 Name a non-metal which is stored in water to prevent its reaction with  

	 air. 								      

,d v/krq ^X* ok;q esa tydj ,d xSl ^Y* cukrh gS tks oSf'od m"ehdj.k ds  

fy, mÙkjnk;h gS rFkk ikSèkksa }kjk izdk'k la'ys"k.k esa mi;ksx dh tkrh gSA tc ;g xSl 

^Y* ty esa ?kqyrh gS rks ^Z* cukrh gS tks uhys fyVel i=k dks yky jax esa ifjofrZr 

dj nsrk gSA	  

(a)	 ^X* rFkk ^Y* dh igpku dhft,A							     

(b)	 gksus okyh vfHkfØ;kvksa ds larqfyr jklk;fud lehdj.k fyf[k,A		

(c)	 ;kSfxd ^Y* dk foy;u ^Z* uhys fyVel i=k dks yky jax esa ifjofrZr D;ksa  

	 djrk gS\	  

(d)	 ,d v/krq dk uke fyf[k, ftldk bldh ok;q ls vfHkfØ;k ds fuokj.k ds fy,  

	 ty esa laxzg fd;k tkrk gSA

5
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	 or (vFkok)

	 Give reason -	  

(a)	 Metals are used for making bell.		   

(b)	 Aluminium foil is used for packaging of food stuff.			   

(c)	 Copper wires are used in electrical fittings.			    

(d)	 Sodium and potassium are stored under kerosene.	  

(e)	 Juices of citrus fruits are not stored in utensils made of iron or copper  

	 or aluminium.				     

dkj.k nhft, %&	  

(a)	 èkkrqvksa dk mi;ksx ?kaVh cukus ds fy, fd;k tkrk gSA					   

(b)	 HkksT; inkFkks± dks iSd djus ds fy, ,syqfefu;e iUuh dk mi;ksx fd;k tkrk gSA	

(c)	 oS|qr fiQfVax esa dkij rkjksa dk mi;ksx fd;k tkrk gSA					   

(d)	 lksfM;e rFkk iksVsf'k;e dks fdjkslhu ds uhps HkaMkfjr fd;k tkrk gSA			 

(e)	 [kêðs iQyksa ds jl dks yksgs] dkWij vFkok ,syqfefu;e ls cus ik=kksa esa lafpr ugha  

	 fd;k tkrk gSA

27.	 (a)	 Why synthetic fibres are preferred over natural fibres? State 3 reasons. 

(b)	 Distinguish between thermoplastics and thermosetting plastics with  

	 respect to -							        

	 (i)	 arrangement of molecules	  

	 (ii)	 ability to remould					      

(a)	 çkÑfrd js'kksa dh vis{kk la'ysf"kr js'kksa dks ojh;rk D;ksa nh tkrh gSA rhu dkj.k  

	 fyf[k,A		   

(b)	 fuEu ds lanHkZ esa FkkeksZIykfLVd rFkk FkeksZlsfVax IykfLV ds eè; foHksnu  

	 dhft, %&	  

	 (i)	 v.kqvksa dh O;oLFkk	  

	 (ii)	 nksckjk ls lkaps esa <kyus dh {kerk

	 or (vFkok)

	 (a)	 Give the full form of PET and mention its uses	  

(b)	 Explain why -	  

	 (i)	 Rayon is called regenerated fibre 	  

1×5=5

3+2=5
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	 (ii)	 Bakelite is used to make handles of various utensils	  

	 (iii)	 It is advised not to wear clothes made of synthetic fibres while  

		  working in kitchen.				     

(a)	 PET dks iw.kZ :i ls fyf[k, rFkk blds mi;ksxksa dk mYys[k dhft,A	  

(b)	 Li"V dhft, fd ,slk D;ksa gksrk gS %&			   

	 (i) 	 js;kWu dks iqu% iztfur js'kk dgk tkrk gSA		   

	 (ii)	 csdsykbV dk mi;ksx fofHkUu ik=kksa ds gSaMy cukus ds fy, fd;k tkrk gSA	

	 (iii)	 jlksbZ?kj esa dk;Z djrs le; la'ysf"kr js'kksa ls cus diM+ksa dks u iguus dk  

		  ijke'kZ fn;k tkrk gSA

section - B ([kaM&c)

28.	 A crop, which is sown by transplantation, is :-	 

(i)	 Barley	 (ii)	 Wheat	  

(iii)	 Groundnut	 (iv)	 Poddy				  

,d iQly tks izfrjksi.k }kjk mxkbZ tkrh gS %&					      

(i) 	 tkS		  (ii)	 xsgwa					  

(iii)	 ewaxiQyh	 (iv)	 èkku

29.	 Geeta's heart started beating faster while she was watching a horror movie  

due to secretion of :-			 

(i)	 Adrenalin	 (ii)	 Thyroxine	  

(iii)	 Growth Harmone	 (iv)	 Insulin			    

xhrk ds ân; dh èkM+du ,d Mjkouk pyfp=k ns[krs le; ftlds lzkoj.k ls c<+ 

xbZ og gS %&							     

(i) 	 ,sfMªusfyu	 (ii)	 FkkW;jkWfDlu				 

(iii)	 o`f¼gkWeksZu	 (iv)	 bUL;wfyu

30.	 Write the names of the implements used for -	  

(a)	 Ploughing	 (b)	 Crushing the crumbs	  

fuEu ds fy, mi;ksx fd, tkus okys vkStkjksa ds uke fyf[k, %&	  

(a)	 gy pykuk	 (b)	 NksVs VqdM+ksa dks ihluk

2+3=5

1

1

1
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31.	 Name the processes by which Amoeba and Plasmodium reproduce.			 

mu izfØ;kvksa ds uke fyf[k, ftuds }kjk vehck rFkk iSjkehf'k;e tuu djrs gSaA

32.	 Prashant is 17 years old and is facing the problem of acne and pimples. Why?	

iz'kkar 17 o"khZ; ;qod gS rFkk dhy eqgklksa dh leL;k dk lkeuk dj jgk gSA dkj.k 

fyf[k,A

33.	 What is a hermaphrodite? Explain giving an example.				  

mHk;fyaxh D;k gksrk gS\ ,d mnkgj.k }kjk Li"V dhft,A

34.	 Classify the animals given below into oviparous and viviparous animals :	  

(a)	 Elephant	 (b)	 Frog	  

(c)	 Hen		 (d)	 Humanbeings			 

uhps fn, x, tarqvksa dks v.Miztd rFkk tjk;qt esa oxhZÑr dhft, %&			 

(a)	 gkFkh		 (b)	 esa<d					   

(c)	 eqxhZ		 (b)	 ekuo

35.	 Rahul, a science graduate was visiting his native village. He observed that 

farmers were watering the crop 2-3 times a day excessively. He told the  

farmers about the harmful effects of excessive supply of water to plants.		

(a)	 How does excessive use of water affect plants?				  

(b)	 Write two values displayed by Rahul.						    

jkgqy tks ,d foKku Lukrd gS] vius iSr`d xkao x;kA mlus izsf{kr fd;k fd mlds 

xkao ds fdlku iQly dh fnu esa 2&3 ckj vkf/kD;rk ls flapkbZ dj jgs FksA mlus 

fdlkuksa dks ty dh vkfèkD; vkiwfrZ ls ikSèkksa ij gksus okys gkfudkjd izHkkoksa ls voxr 

djk;kA								      

(a)	 ty dk vkfèkD; mi;ksx ikSèkksa dks fdl izdkj izHkkfor djrk gS\		

(b)	 jkgqy }kjk iznf'kZr nks ewY; fyf[k,A

36.	 (a)	 State any two advantages of ploughing the field.	  

(b)	 What are weedicides?				     

(a) 	 [ksr dks tksrus ds dksbZ nks ykHk fyf[k,A	  

(b)	 [kjirokj uk'kd D;k gksrs gSa\

1

1

2

2

1+1

2+1
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37.	 Farmers in Northern India grow a leguminous crop between two successive 

cereal crops.	  

(a)	 What is this practice called?	  

(b)	 Why only leguminous plants are selected for this practice?		

mÙkj Hkkjr esa fdlku nks vkuqØfed vukt dh iQlyksa ds eè; eVj dh iQly  

mxkrk gSA	 

(a)	 bl vH;kl dks D;k dgk tkrk gS\	  

(b)	 bl vH;kl ds fy, dsoy eVj ds ikSèkksa dk p;u dh D;ksa fd;k tkrk gS\

or (vFkok)

	 (a)	 Why are harvested food grains sundried before storing?		   

(b)	 How is large scale storage of fruits and vegetables done?			 

(c)	 What is 'winnowing'?			   		   

(a)	 iQly dh dVkbZ ds ckn vukt dks HkaMkj.k ls igys /wi esa D;ksa lq[kkuk  

	 pkfg,\	  

(b)	 iQyksa rFkk lfCt;ksa dk cM+s Lrj ij HkaMkj.k fdl izdkj fd;k tkrk gS\		

(c)	 ^fouksbax* (iQVduk) D;k gksrk gS\

38.	 (a)	 Draw a neat diagram of human female reproductive system and label  

	 the following parts :-	  

	 (i)	 site of fertilization			    

	 (ii)	 site where embryo develops 						       

	 (iii)	 part which produces ova						       

(b)	 How is embryo different from foetus?	  

(a)	 ekuo eknk tuu ra=k dk LoPN vkjs[k [khafp, rFkk fuEufyf[kr Hkkxksa dks ukekafdr  

	 dhft, %&		   

	 (i)	 fu"kspu dk LFkku	  

	 (ii)	 LFkku tgka Hkwz.k fodflr gksrk gSA	 

	 (iii)	og Hkkx tks v.Mk.kq mRiUu djrk gSA					      

(b)	 Hkwz.k] xHkZ ls fdl izdkj fHkUu gksrk gS\

1+2

1+1+1

3+2
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	 For visually impaired students only in lieu of Q. No. 38	  

ç-la- 38 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u		

Write any three functions performed by the human female reproductive system.

ekuo eknk tuu ra=k }kjk lEiUu fd, tkus okys dksbZ rhu izdkj fyf[k,A

or (vFkok)

	 Define is matamorphosis? What are the changes that occur in the body of a 

tadpole during the process? Explain.							     

dk;kUrj.k dks ifjHkkf"kr dhft,A bl izfØ;k ds nkSjku VSMiksy ds 'kjhj esa vkus okys 

ifjorZu D;k gSa] foLrkj ls fyf[k,A

39.	 (a)	 Defind adolescence.	  

(b)	 Why Adam's apple is seen in boys in front of the neck during puberty? 	 

(c)	 How is the sex of human child determined?				     

(d)	 What is the average age for the onset of puberty in boys and girls.	  

(a)	 fd'kksjkoLFkk dh ifjHkk"kk fyf[k,A							     

(b)	 ;kSoukjaHk ds nkSjku dqN yM+dksa esa mudh xnZu ds vkxs ds Hkkx esa ,sMEl ,siWy  

	 D;ksa fn[kkbZ nsrk gS\	  

(c)	 ekuo f'k'kq dk fyax fdl izdkj Kkr fd;k tkrk gS\	  

(d)	 yM+dksa rFkk yM+fd;ksa esa ;kSoukjaHk ds fy, vkSlr vk;q D;k gksrh gS\

or (vFkok)

	 (a)	 Complete the table given below :-						    

	 (b)	 'Experimentation with drygs during adolescence strictly should be  

	 avoided' - Why?							     

(c)	 Why adolescents should not substitute milk with cold drinks and  

	 fruit juices.					      

Endocrime 
gland

harmone 
secreted

Rate of 
harmone

1 Pituitary gland – –

2 Thyroid gland – –

1+4

1+1+2+1

2+2+1
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(a)	 uhps nh xbZ lkj.kh dks iwjk djsa %&						    

	  

	 (b)	 fd'kksjkoLFkk ds nkSjku Mªx (u'khyh nok) ds lkFk iz;ksx ds fy, fd'kksjksa dks  

	 dM+kbZ ls nwj jguk pkfg,A dkj.k fyf[k,A					      

(c)	 fd'kksjksa dks nw/ ds LFkku ij 'khry is; rFkk iQyksa ds jl D;ksa ugha ysus  

	 pkfg,\

var% lzkoh xzfUFk lzkfor gkWeksZu gkWeksZu dh Hkwfedk

1 ih;w"k xzfUFk – –

2 Fkk;jkWbM xzfUFk – –




